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FIGURE S1: Raman spectra (a) and HRTEM image (b) of graphene film produced at feed rates of 

0.02, 0.04 , 0.06 mL/min 
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FIGURE S2: Plots of ln (dark current density) versus voltage showing diode ideality factors of 

different graphene films before (n1) and after (n2) HNO3 treatment.(a) AC-0.02, (b) AC-0.04, (c) 

AC-0.06. 
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FIGURE S3: Linear fit of dV/d(lnI) versus I shows the Rs of different samples (I is dark current), (a) 

AC-0.02, (b) AC-0.02-HNO3, (c) AC-0.04, (d) AC-0.04-HNO3, (e) AC-0.06, (f) AC-0.06-HNO3. 
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